Class Activity # 3                                                                                                 SCI 1300                                     


(1) A river’s source is at an altitude of 4880 feet above sea level. The river flows into the Atlantic Ocean. Suppose the river loses 12 feet of altitude per mile of length. How long is the river? 

(2) A car drives at a speed of 60 miles per hour. Convert the speed to meter per second. (1 mile equals about 1609.4 meter)

(3) An equation of a line is 
3 x + 4 y = -12. 
Find the length of the portion of the line that lies between the x- and y–intercepts of the line.

(4) Suppose you are driving at a constant speed from Chicago to Detroit, a distance of 275 miles. About 120 miles from Chicago, you pass through Kalamazoo, Michigan. Sketch a graph of your distance from Kalamazoo as a function of time. 

[image: image1.wmf]time

50

100

150

200

250

300

distance

H

miles

L


1 of 2

